


CROCHET HOOK
A 4.00mm crochet hook.

REQUIREMENTS
A button.
Wool needle for sewing up.
Fabric to create a lining (optional).

TENSION
Tension is not important for this project.

SQUARE (make 5)
Using 4.00mm hook and C1, make 6ch and sl st into first ch to 
make a ring.
1st round: 1ch, 8dc into ring, sl st into 1st dc.
2nd round: 5ch (stands as 1tr and 2ch), [1tr in next dc, 2ch] 7 
times, sl st into 3rd of 5ch.
3rd round: 3ch (stands as 1tr), [3tr in next 2ch sp, 1tr in next tr] 7 
times, 3tr in next 2ch sp, sl st into 3rd of 3ch … 32tr.
Change to C2.
4th round: 4ch (stands as 1tr and 1ch), 1tr in same place as sl st, 
[1tr in each of next 7tr, (1tr, 1ch, 1tr) in next tr] 3 times, 1tr in 
each of next 7tr, sl st into 3rd of 4ch, sl st into 1ch sp.
5th round: 3ch (stands as 1tr), [1tr, 1ch, 2tr] in same 1ch sp, [1ch, 
miss 2tr, (2tr in next tr, 1ch, miss 1tr) twice, 2tr in next tr, miss 2tr, 
(2tr, 1ch, 2tr) in 1ch sp] 3 times, 1ch, miss 2tr, [2tr in next tr, 1ch] 3 
times, sl st into 3rd of 3ch, sl st to 1ch sp.
Change to C3.
6th round: [3ch (stands as 1tr), 2tr, 1ch, 3tr] in 1ch sp, 1ch, [(3tr 
in next 1ch sp, 1ch) 4 times, (3tr, 1ch, 3tr) in next 1ch sp, 1ch] 3 
times, [3tr in next 1ch sp, 1ch] 4 times, sl st into 3rd of 3ch, sl st 
into 1ch sp.
7th round: [3ch (stands as 1tr), 2tr, 1ch, 3tr] in 1ch sp, 1ch, [(3tr 
in next 1ch sp, 1ch) 5 times, (3tr, 1ch, 3tr) in next 1ch sp, 1ch] 3 
times, [3tr in next 1ch sp, 1ch] 5 times, sl st into 3rd of 3ch.
Fasten o�.

TRIANGLE (make 2)
Using 4.00mm hook and C1, make 4ch and sl st into first ch to 
make a ring.
1st row: Work 6dc into ring, sl st into 1st dc, turn.
2nd row: 5ch (stands as 1tr and 2ch), [1tr into next dc, 2ch] 3 
times, 1tr in next dc, turn.
3rd row: 3ch (stands as 1st tr), [3tr in next 2ch sp, 1tr in next tr] 3 
times, 3tr in next 2ch sp, 1tr in 3rd of 3ch, turn … 17tr.
Change to C2.
4th row: 4ch (stands as 1tr and 1ch), 1tr in same place as 4ch, 1tr 
in each of next 7tr, [1tr, 1ch, 1tr] in next tr, 1tr in each of next 7tr, 
[1tr, 1ch, 1tr] in 3rd of 3ch, turn.
5th row: 4ch (stands as 1tr and 1ch), 2tr in 1ch sp, 1ch, miss 2tr, 
[2tr in next tr, 1ch, miss 1tr] twice, 2tr in next tr, miss 2tr, [2tr, 1ch, 

2tr] in next 1ch sp, miss 2tr, [2tr in next tr, 1ch, 1tr] twice, 2tr in 
next tr, miss 2tr, [2tr, 1ch, 1tr] in next 1ch sp, turn.
Change to C3.
6th row: 4ch (stands as 1tr and 1ch), 3tr in 1ch sp, 1ch, [3tr in 
next 1ch sp, 1ch] 4 times, [3tr, 1ch, 3tr] in next 1ch sp, 1ch, [3tr in 
next 1ch sp, 1ch] 4 times, [3tr, 1ch, 1tr] in next 1ch sp, turn.
7th row: 4ch (stands as 1tr and 1ch), 3tr in 1ch sp, 1ch, [3tr in 
next 1ch sp, 1ch] 5 times, [3tr, 1ch, 3tr] in next 1ch sp, 1ch, [3tr in 
next 1ch sp, 1ch] 5 times, [3tr, 1ch, 1tr] in next 1ch sp.
Fasten o�.

Lay out Squares and Triangles as below, then using C2, crochet 
pieces tog:

Using C2, work 3 rows dc evenly across top edge of the Top, dec 
either side of the front V on each row and at the end of last row 
work 4ch and sl st into same place as last dc on 1st row to create a 
buttonhole.
Fasten o�.

STRAPS (make 2)
Using 4.00mm hook and C2, make 101ch, turn.
1st row: 1dc in 2nd ch from hook, 1dc in each ch to end, turn.
2nd row: 1ch, 1dc in each dc to end.
Fasten o�.

FINISHING
Sew Straps at the top of the two top Squares. Sew on button to 
correspond with buttonhole. Sew in all ends.
If desired, use fabric to create a lining, and slip stitch in place.
Fringe:
Use 2 strands of C2, 1 strand of C1 and 1 strand of C3. Cut enough 
lengths of approx 23cm of each colour and add evenly along lower 
edges. This will provide a fringe of approximately 10cm.

MEASUREMENTS
One Size Fits Most

Each Square measures cm 20 x 20
YARN REQUIRED
Lincra� Cotton 8ply 50g balls
1st Colour (C1-cream) 2
2nd Colour (C2-blue) 2
3rd Colour (C3-yellow) 3
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CROCHET HOOK
A 4.00mm crochet hook.

REQUIREMENTS
Wool needle for sewing up.
Fabric to create a lining (optional).

TENSION
Tension is not important for this project.

CUPS (make 2)
Using 4.00mm hook, make 18ch.
1st row: 1htr in 3rd ch from hook, 1htr in each of next 15ch, 3htr in last 
ch, work 1htr in the other side of each of the 15ch to end, 2ch, turn.
2nd row: 1htr in each of next 16htr, 3htr in next htr, 1htr in each of 
next 16htr, 2ch, turn.
3rd row: 1htr in each of next 17htr, 3htr in next htr, 1htr in each of next 
17htr, 2ch, turn.
4th row: 1htr in each of next 18htr, 3htr in next htr, 1htr in each of next 
18htr, 2ch, turn.
5th row: 1htr in each of next 19htr, 3htr in next htr, 1htr in each of next 
19htr, 2ch, turn.
6th row: 1htr in each of next 20htr, 3htr in next htr, 1htr in each of next 
20htr, 2ch, turn.
7th row: 1htr in each of next 21htr, 3htr in next htr, 1htr in each of next 
21htr, 2ch, turn.
8th row: 1htr in each of next 22htr, 3htr in next htr, 1htr in each of next 
22htr, 2ch, turn.
9th row: 1htr in each of next 23htr, 3htr in next htr, 1htr in each of next 
23htr, 2ch, turn.
10th row: 1htr in each of next 24htr, 3htr in next htr, 1htr in each of 
next 24htr, 2ch, turn.
11th row: 1htr in each of next 25htr, 3htr in next htr, 1htr in each of 
next 25htr, 2ch, turn.
12th row: 1htr in each of next 26htr, 3htr in next htr, 1htr in each of 

next 26htr, 1ch, turn … 55tr.
13th row: 1dc in each htr to end, 1ch, turn.
14th row: 1dc in each dc to end, 1ch, turn.
15th row: 1dc in 1st dc, [miss 2dc, 5tr in next dc, miss 2dc, 1dc in next 
dc] to end.
Fasten o�.

STRAPS (make 4)
Using 4.00mm hook, make 101ch.
1st row: 1dc in 2nd ch from hook and 1dc in each ch to end, 1ch, turn 
… 100dc.
2nd row: 1dc in each dc to end.
Fasten o�.

LOWER BAND
With wrong side facing and using 4.00mm hook, join yarn at bottom 
corner of Cup 1.
1st row: Work 32dc evenly across bottom of Cup 1 and Cup 2 (64dc), 
12ch, turn.
2nd row: 1dc in 2nd ch from hook, 1dc in each ch, 1dc in each dc across 
bottom of cups, 13ch, turn.
3rd row: 1dc in 2nd ch from hook, 1dc in each dc to end, 1ch, turn.
4th row: 1dc in 1st dc, [5tr in next dc, miss 2dc, 1dc in next dc, miss 2dc] 
14 times, 5tr in next dc, 1dc in last dc, turn.
5th row: 4ch (stands as 1tr and 1ch), [1dc in 3rd of 5tr, 2ch, 1tr in next dc, 
2ch] 15 times, 1ch, 1tr in last dc, 1ch, turn.
6th row: 1dc in 1st tr, [5tr in next dc, 1dc in next tr] 15 times, turn.
Rep 5th and 6th rows 4 times.
Fasten o�.

FINISHING
Sew a Strap to the top of each of the Cups and at each side of the top  
of the Lower Band at the back. Sew in all ends.
If desired, use fabric to create a lining, and slip stitch in place.

MEASUREMENTS

One Size Fits Most
Width cm Adjustable
Length (approx, 
excluding ties) cm 30

YARN REQUIRED

Lincra� Cotton 8ply 50g balls 2



CROCHET 
BIKINI TOP
EASY CROCHET



CROCHET 
PONCHO
EASY CROCHET



CROCHET HOOK
A 4.00mm crochet hook.

REQUIREMENTS
Wool needle for sewing up.

TENSION
Tension is not important for this project.

SPECIAL ABBREVIATIONS
Cluster = [yoh, draw up a lp, yoh, draw yarn 
through 2 lps] twice, (3 lps on hook), yoh, draw 
yarn through all 3 lps.

PONCHO
SQUARE (make 2)
Using 4.00mm hook, make 4ch and sl st into first 
ch to make a ring.
1st round: 4ch (stands as 1tr and 1ch), into ring 
work [1tr, 1ch] 15 times, sl st into 3rd of 4ch, sl st 
into 1st ch sp.
2nd round: 3ch (stands as 1tr), 1tr in same sp as 
3ch, [2ch, cluster in next 1ch sp] 15 times, 2ch, sl 
st into 3rd of 3ch, sl st into 1st 2ch sp.
3rd round: 3ch (stands as 1tr), 1tr in same sp as 
3ch, [3ch, cluster in next 2ch sp] 15 times, 3ch, sl 
st into 3rd of 3ch, sl st into 1st 3ch sp.
4th round: 4ch (stands as 1dc and 3ch), 1dc in 
same 3ch sp, [(1dc, 3ch, 1dc) in next 3ch sp] 15 
times, sl st into 1st of 4ch, sl st into 1st 3ch sp.
5th round: 3ch (stands as 1tr) [1tr, 4ch, cluster] 
in same 3ch sp, [cluster, 4ch, cluster in each 3ch 
sp] 15 times, sl st into 3rd of 3ch, sl st into 1st 
4ch sp.
6th round: 5ch (stands as 1dc and 4ch), 1dc in 
same 4ch sp, [(1dc, 4ch, 1dc) in next 4ch sp] 15 
times, sl st into 1st of 5ch, sl st to centre of 1st 
4ch sp.
7th round: 9ch (stands as 1dc and 8ch), [(1dc 
in next 4ch sp, 6ch) 3 times, 1dc in next 4ch sp, 
8ch] 3 times, [1dc in next 4ch sp, 6ch] 3 times, sl 
st into 1st of 9ch, sl st to centre of 9ch sp.
8th round: 4ch (stands as 1dtr), (1dtr, 3ch, 2dtr) 
in same place as 4ch, [5ch, 1htr in next 6ch sp, 
5ch, 1dc in next 6ch sp, 5ch, 1htr in next 6ch sp, 
5ch, (2dtr, 3ch, 2dtr) in next 8ch sp] 3 times, 5ch, 
1htr in next 6ch sp, 5ch, 1dc in next 6ch sp, 1htr 
in next 6ch sp, 5ch, sl st into 4th of 4ch, sl st into 
1st 3ch sp.
9th round: 4ch (stands as 1dtr), [1dtr, 3ch, 2dtr] 
in same place as 4ch, [(1ch, 7tr in next 5ch sp) 
4 times, 1ch, (2dtr, 3ch, 2dtr) in next 3ch sp] 3 
times, [1ch, 7tr in next 5ch sp] 4 times, 1ch, sl st 
into 4th of 4ch, sl st into 3ch sp.
10th round: 4ch (stands as 1dtr), [1dtr, 3ch, 
2dtr] in same place as 4ch, [(6ch, 1tr in 4th of 
7tr) 4 times, 6ch, (2dtr, 3ch, 2dtr) in next 3ch sp] 
3 times, [6ch, 1tr in 4th of 7tr] 4 times, 6ch, sl st 
into 4th of 4ch, sl st into 3ch sp.
11th round: 4ch (stands as 1dtr), [1dtr, 3ch, 
2dtr] in same place as 4ch, [(1ch, 7tr in next 6ch 
sp) 5 times, 1ch, (2dtr, 3ch, 2dtr) in next 3ch sp] 
3 times, [1ch, 7tr in next 6ch sp] 5 times, 1ch, sl 
st into 4th of 4ch, sl st into 3ch sp.
12th round: 4ch (stands as 1dtr), [1dtr, 3ch, 
2dtr] in same place as 4ch, * [1ch, 1dtr in next 
1ch sp, (miss 1tr, 1ch, 1dtr in next tr) 3 times] 5 
times, 1ch, 1dtr in next 1ch sp, 1ch, [2dtr, 2ch, 
2dtr] in next 3ch sp *, rep from * to * twice, 
[1ch, 1dtr in next 1ch sp, (miss 1tr, 1ch, 1dtr in 

next tr) 3 times] 5 times, 1ch, 1dtr in next 1ch 
sp, 1ch, sl st into 4th of 4ch, sl st into 3ch sp.
13th round: 3ch (stands as 1tr), [1tr, 3ch, 2tr] in 
same place as 3ch, [1tr in each dtr and 1ch sp to 
next corner (47tr), [2tr, 3ch, 2tr] in next 3ch sp] 
3 times, 1tr in each dtr and 1ch sp to corner, sl st 
into 3rd of 3ch.
Fasten o�.

TRIANGLE (make 4)
Using 4.00mm hook, make 4ch and sl st into first 
ch to make a ring.
1st row: 4ch (stands as 1tr and 1ch), into ring 
work [1tr, 1ch] 7 times, 1tr into ring, turn.
2nd row: 4ch (stands as 1tr and 1ch), [cluster 
into 1ch sp, 2ch] 7 times, cluster into next 1ch sp, 
1ch, 1tr into 3rd of 4ch, turn.
3rd row: 3ch (stands as 1tr), 1tr into 1ch sp, 
[3ch, cluster in 2ch sp] 7 times, 3ch, 1tr into 1ch 
sp, 1tr into 3rd of 4ch, turn.
4th row: 4ch (stands as 1tr and 1ch), [1dc, 3ch, 
1dc in 3ch sp] 8 times, 1ch, 1tr in 3rd of 3ch, turn.
5th row: 4ch (stands as 1tr and 1ch), [cluster, 
4ch, cluster in 3ch sp] 8 times, 1ch, 1tr in 3rd of 
3ch, turn.
6th row: 4ch (stands as 1tr and 1ch), [1dc, 4ch, 
1dc in 4ch sp] 8 times, 1ch, 1tr in 3rd of 3ch, turn.
7th row: 6ch (stands as 1tr and 3ch), [1dc, 6ch 
in next 4ch sp] 3 times, 1dc in next 4ch sp, 8ch, 
[1dc, 6ch in next 4ch sp] 3 times, 1dc in next 4ch 
sp, 3ch, 1tr in 3rd of 4ch, turn.
8th row: 5ch (stands as 1dtr and 1ch), 2dtr in 
3ch sp, 5ch, 1htr in next 6ch sp, 5ch, 1dc in next 
6ch sp, 5ch, 1htr in next 6ch sp, 5ch, [2dtr, 3ch, 
2dtr] in 8ch sp, 5ch, 1htr in next 6ch sp, 5ch, 
1dc in next 6ch sp, 5ch, 1htr in next 6ch sp, 5ch, 
[2dtr, 1ch] in 6ch sp, 1dtr in 3rd of 6ch, turn.
9th row: 5ch (stands as 1dtr and 1ch), 2dtr in 
1ch sp, [1ch, 7tr in next 5ch sp] 4 times, 1ch, 
[2dtr, 3ch, 2dtr] in next 3ch sp, [1ch, 7tr in next 
5ch sp] 4 times, 1ch, [2dtr, 1ch] in next 5ch sp, 
1dtr in 4th of 5ch, turn.
10th row: 5ch (stands as 1dtr and 1ch), 2dtr in 
1ch sp, [6ch, 1tr in 4th of 7tr] 4 times, 6ch, [2dtr, 
3ch, 2dtr] in next 3ch sp, [6ch, 1tr in 4th of 7tr] 
4 times, 6ch, [2dtr, 1ch] in next 5ch sp, 1dtr in 
4th of 5ch, turn.
11th row: 5ch (stands as 1dtr and 1ch), 2dtr 
in 1ch sp, [1ch, 7tr in next 6ch sp] 5 times, 1ch, 
[2dtr, 3ch, 2dtr] in next 3ch sp, [1ch, 7tr in next 
6ch sp] 5 times, 1ch, [2dtr, 1ch] in next 6ch sp, 
1dtr in 4th of 5ch, turn.
12th row: 5ch (stands as 1dtr and 1ch), 2dtr in 
1ch sp, [1ch, 1dtr in next 1ch sp, (1ch, miss 1tr, 
1dtr in next tr) 3 times] 5 times, 1ch, 1dtr in next 
1ch sp, [2dtr, 3ch, 2dtr] in next 3ch sp, [1ch, 1dtr 
in next 1ch sp, (1ch, miss 1tr, 1dtr in next dtr) 3 
times] 5 times, 1ch, 1dtr in next 1ch sp, [2dtr, 1ch] 
in next 5ch sp, 1dtr in 4th of 5ch, turn.
13th row: 4ch (stands as 1tr and 1ch), 2tr in 
1ch sp, 1tr in each dtr and 1ch sp to next corner 
(47tr), [2tr, 3ch, 2tr] in next 3ch sp, 1tr in each 
dtr and 1ch sp to corner, [2tr, 1ch] in next 1ch sp, 
1tr in 4th of 5ch.
Fasten o�.

Lay the Square flat with a point to the top. Lay 
a Triangle on either side, making a large triangle 
shape. Sew pieces tog. Rep for rem Square and 
Triangles.

TOP EDGE
With right side facing and using 4.00mm hook, 
join yarn in top corner of one large triangle.
1st row: 4ch (stands as 1tr and 1ch), 1tr in same 
place as sl st, evenly across top of work [1ch, 1tr] 
77 times, 1ch, 1tr in same place as last tr, turn.
2nd row: 4ch (stands as 1tr and 1ch), 1tr in 
same place as 4ch, [1tr in next 1ch sp, 1ch] 78 
times, 1tr in next 1ch sp, [1tr, 1ch, 1tr] in 3rd of 
4ch, turn.
3rd row: 4ch (stands as 1tr, and 1ch), 1tr in same 
place as 4ch, miss 1tr, 1tr in next tr, [1ch, 1tr in 
next 1ch sp] 78 times, 1ch, miss 1tr, 1tr in next tr, 
1ch, [1tr, 1ch, 1tr] in 3rd of 4ch, turn.
4th row: 1ch, 1dc in each tr and 1ch sp to end, turn.
5th row: 1ch, 1dc in each dc to end.
Do not fasten o�. Turn work 90° and cont down 
the side as folls:

SIDE BORDERS
1st row: 7ch, (stands as 1tr and 4ch), 1dc in top 
of tr from 3rd row of top edge, 4ch, 1dc in top of 
tr from 2nd row of top edge, 4ch, 1dc in top of 
tr from 1st row of top edge, 4ch, 1dc in bottom 
of tr from 1st row of top edge, (4ch, miss 2tr, 1dc 
in next tr) 34 times, 4ch, miss 2tr, 1tr in 3ch sp, 
(4ch, miss 2tr, 1dc in next tr) 34 times, 4ch, miss 
2tr, 1dc in bottom of tr from 1st row of top edge, 
4ch, 1dc in top of tr from 1st row of top edge, 
4ch, 1dc in top of tr from 2nd row of top edge, 
4ch, 1dc in top of tr from 3rd row of top edge, 
4ch, 1tr in last dc of top edge, turn.
2nd row: 8ch (stands as 1tr and 5ch), [1dc in 
next 4ch sp, 5ch] to last 4ch sp, 1dc in last 4ch sp, 
5ch, 1tr in 3rd of 7ch, turn.
3rd row: 6ch (stands as 1tr and 3ch), [1tr in next 
5ch sp, 3ch] to centre 5ch sp, [1tr, 3ch, 1tr] in 
centre 5ch sp, [3ch, 1tr in next 5ch sp] to last 5ch 
sp, 1tr in last 5ch sp, 3ch, 1tr in 3rd of 8ch, turn.
4th row: 4ch (stands as 1tr and 1ch), 1tr in same 
place as 4ch, [2ch, (1tr, 1ch, 1tr) in next tr] to 
centre 3ch sp, [1tr, 1ch, 1tr] in 3ch sp, [(1tr, 1ch, 
1tr) in next tr, 2ch] to last 6ch sp, [1tr, 1ch, 1tr] 
in 3rd of 6ch, turn.
5th row: 8ch (stands as 1tr and 5ch), [1dc in 
next 2ch sp, 6ch] 39 times, 6ch, miss [1tr, 1ch, 
1tr, 1ch], 1dc in next tr, [6ch, 1dc in next 2ch sp] 
39 times, 5ch, 1tr in 3rd of 3ch, turn.
6th row: 8ch (stands as 1tr and 5ch), 1dc in 5ch 
sp, [6ch, 1dc in next 6ch sp] to last 6ch sp, 1dc in 
5ch sp, 5ch, 1tr in 3rd of 8ch, turn.
7th row: 6ch (stands as 1tr and 3ch), miss 5ch 
sp, [1tr in next 6ch sp, 3ch] to centre 6ch sp, [1tr, 
3ch, 1tr] in centre 6ch sp, [3ch, 1tr in next 6ch 
sp] to last 6ch sp, 3ch, 1tr in 3rd of 8ch, turn.
8th row: [4ch (stands as 1tr and 1ch), 1tr in 1st 
tr, [3ch, (1tr, 1ch, 1tr)] in next tr to centre 3ch sp, 
[3ch, 1dtr, 3ch] in centre 3ch sp, [(1tr, 3ch, 1tr) 
in next tr, 3ch] to last tr, 3ch, [1tr, 3ch, 1tr] in 3rd 
of 6th ch.
Fasten o�.
Rep for other piece.

FINISHING
Sew the two pieces tog across the top edge, 
leaving approx 40cm open, in the middle. Sew in 
all ends.

MEASUREMENTS

One Size Fits Most
Width (approx) cm 120
Length (approx) cm 60
YARN REQUIRED

Lincra� Cotton 8ply 50g balls 8




